
Turtle Racing Rear HD Shock Mount TUR0005 

Kit Includes: 

1pc Rear HD Mount 

2pcs M4x25 SocketHead 

2pcs M4x35 FlatHead 

2pcs M4x25 ButtonHead 

2pcs M4 LockNut 

 



Install is the same for all Baja models and the Rear HD 

fits all Baja models, you will just need to work around 

the different cages as needed. 

 

1. Remove 4 screws from stock shock mount and 2 

screws from shocks. Remove shocks from tower 

and remove stock shock mount.  

 

2. Install mount using 2pcs-M4x35 flatheads in the 

lower holes and 2pcs-M4x25 socketheads in the 

top holes. The top screws are longer than stock 

and will go through the stock plastic shock 

towers. You have 2 options- drill through the 

plastic with 1/8” (3mm) drill or just drive the 

screws right through. 



 
 

 

 

 

 



3. Install shock into mount and install M4x25 

buttonheads, install M4 nut on backside of 

M4x25  buttonheads 

 

 

 

 

 



Install option 

Back the 2pcs-M4x25 socketheads in top 

holes out and use a utility knife or Dremel 

the cut the plastic, cut a notch to clear a nut 

and install  M4 nut for added strength 

 

 

 


